{7 BOLT COVER

BASE PLATE *\

V.

BREAKAWAY
SUPPORT
DOUBLE-NECK
POLE-SAFE
COUPLING

/
\

ALUM. TORQUE CONTROL NUT
1"-8 UNC NOT PER ASTM A563 GRADE DH

| TOP WASHER HDG

1/8"1-1/8"x2" FLAT WASHER
PER ASTM F436

N POLE BASE PLATE

—— BOTTOM WASHER HDG

1/8"1-1/8"x2" FLAT WASHER
PER ASTM F436
—— UPPER WRENCH FLATS

—— LOWER WRENCH FLATS

—— CGALVANIZED STEEL SHIM
(IF REQUIRED FOR LEVELING)

| 1/8"x1-1/8"x2" FLAT WASHER PER

ASTM F436

S
3 N
4
o
IS
boa

L CONCRETE FOOTING

1" 8 UNC THREADS GALVANIZED
ANCHOR BOLTS

1.1/2" + 1/8" BOLT PROJECTION
1" CHAMFER

BREAKAWAY POLE ANCHOR DETAIL

=
,‘ ”
f T
)
? WV’ " I

ANCHOR BOLT WITH NUT, WASHER & LOCK WASHER,
GALV. ASTM A-123 (FURNISHED
BY POLE MANUFACTURER)

BASE PLATE
11/2" NON-SHRINK GROUT TAMPED IN PLACE

LEVELING NUT AND WASHER

1" CHAMFER

CONCRETE FOOTING

NON-BREAKAWAY ANCHOR DETAIL

PUBLIC WORKS ENGINEERING

STREET LIGHTING
POLE ANCHOR
CONCRETE SUPPORT

Richland
f}V&AAz,7',7§n

APPR. BY: PKR DATE: 07.17
DRAWN BY: LD DWG: SL—-6

CAD FILE:

2015_SL6_07_2017




